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I nstructions to the gandidatés,
1) Answef @,No. 20or Q. No. 2, Q.No. 3or Q.No. 4, Q.No.50r Q.No. 6., Q. No. 7
or Q/NG:"8, QNo. 9 or Q.No. 10.
2) Neat giagrams must be drawn whenever necessary.
3) Figuresdp-the right indicate full marks.
4) Assume-suitable data, if necessary.
Q1) & What is significant depth? How would yeu decide the depth of
exploration. [5]
b) A footing 2m square rests on soff clay soil, with its base at adepth 1.5m
from ground surface. Using, skémpten's equation determine net safe
bearing capacity of footing=for the>soil properties Cu = 80 kn/m?,
du = 0, assume F.s = 3.0/ [5]
OR
Q2) @ WhatisR.Q.D., Howsrating of rack quality isdecided based on R.Q.D.[5]
b) Estimate averageimmediate settlement for thefollowing data: [5]
)  Footing = 4m x 2m
i)  Depth of foundation = 2 (m)
i) E=48,000 kN/M?, u=0.5
iv) Contact pressure = 200 kN/mv, p, = 0.78, p, =0:84
Q3) @ Explaintermswith sketches [6]
)  Insideclearance
i)  Outsideclearance
i)  Arearatio
b) Inwhat situations would you go for combinedfooting? Explain any one
indetail. [4]

OR

PT.O.



Q4) &)

b)

Q5) 8

b)

Q6) a)
b)

Q7) &

b)

Qg) &)

b)

Explain the effect of submergencecen bearing capacity for different
positions of ground water table. [6]
In a consolidation test void ratig:decreased from 0.7 to 0.65, when the
load was changed from 50 kN/## to 100 kN/m?. Compute compression
Index and coefficient of volUme change. [4]

Explain how dewyou decide bearing capacity of single pile by pile load

test method Withrsuitable sketches. [6]
Draw a nezt sketch-of Pneumatic caisson and explain the functions of
various component parts. [6]

A cirqUlearpilesection with 0.35m diameter and length 10m penetrates a
depositof efay having C = 10 kN/m? and mobilizing. factor m = 0.8.

Cél culatedoad carrying capacity by skin friction. [9]
OR

Explaifrthe classification of pileswith basisof classification. [9]

What'is tilt and shift in case of well foundaiion. Explain remedial

measures for rectification of tilt and shift. [6]

A pile 300 mm diameter 8 m dégp s installed in a stratum having
shearing resistance angle of 30°)A cehesion is 10kN/m?. Value of
cohesion factor is 0.8 and density 6f stratum is 17.66 KN/m?. Find
Ultimate bearing capacity..( [6]

Explain the effects of swellingand shrinkage of expansive soilsonwalls
and flooring of buildingstonstructed onit. Also, enlist the precautionsto

betaken. Illustrate with sketches. [6]
Explain any one method:ef calculating load carrying capacity of doubie
under reamed pile. [6]
Draw the neat sketches of structural arrangementsinvolved in [9]

)  Cantilever sheet pile
i)  Anchored Sfeet pile

OR
Explain seven properties of clayey soilswhichwould hep in classifying
their swelling potential. [6]
Explainwith sketches [6]

1)  Rock fill cofferdam
i)  Sand Bag cofferdam

What are the engineering problems associated with black cotton soils.
Explainany four inbrief. [9]
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Q9) &)

b)

Q10)a)

b)

Explain use of geosyntheticsin [9]
)  Roads and pavements

i)  Load bearingimprovement

Defineterms [6]
1)  Epicentet
i) Focus

i)  Maghitudeand
V) Sdntensity

Explainany four advantages of geosynthetics over ‘the conventional

materidls. | [5]
OR
What isliguefaction. Discuss effectsoi liquefaction and suggest suitable
methods for prevention of liquefaction of oils. [6]
What isreinforced Earth walt~Dyaw aheat sketch of reinforced earth wall
and explain functions of itSVearious component parts. [6]
Differentiate between P;wavesand S-waves. [4]
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